TecT Ne 2
EavHVLUbI macchbl

{ HauvaTtb TecT J




Pe3ynkTaTbl TecTta

BepHo: 10
Ownoku: 0

OTmeTKa: 5

Bpemsa: 0 MuH. 21 cek.

Onsa Bbixoga — HaxxmuTe ESC
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3TO eAMHMLUA U3MEpPEeHna?

A | | Her |




Ha3oBuTe eanHMLY MaccChl

[ MUHYyTa ] [.qeu,umeTp] [ueHTHepJ

o |




300 4 paBHbI

3t | | 3000k | [ 30kr

30T - 30007




4 m 60 ke
paBHbLI

46T || 4060kr | | 46u |

 4T6u 406 kr




1 000 000 2 paBHbI

||

1y | | 10T

|




CpaBHun 700y i 7 m




CpaBHu 4200 k2 n 42 m




CpaBHun 67 u wn 6700 k2




CpaBHU S k2402 wn 50402
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